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OBE ‘A’ LEVEL
SUBJECT: ENGLISH

TIME: 3 HOURS MAX: MARKS: 100
N. 13:

. THIS PAPER HAS TWO PARTS
SECTION ‘A’ IS OF 35 MARKS
SECTION ‘B’ IS OF 65 MARKS

SECTION : A (LISTENING & SPEAKING)

TIME: 30 MINUTES MAX MARKS: 35

TASKS: IDENTIFICATION OF OBJECTS,
IDTERACTION WITH PICTURES,
ANSWERING QUESTIONS, LOUD READING ETC.

PROPERTY : OBJECTES OF DAILY USE LIKE;

REQUIRED PEN, PENCIL, BAG, COMB, BOOK, DIARY, WATCH, RUBBER, BANGLES, PAPER WEIGHT, SCALE,
STAPLER ETC, AND CHARTS DEPICTING OBJECTS AND REAL LIFE SITUATIONS, A SET OF CARDS WITH NAMES OF
OBJECTS.



METHOD : INDIVIDUAL INTERACTION WITH THE STUDENTS AND ON THE SPOT EVALUATION OF THEIR
PERFORMANCE

Q.1 The teacher shows five objects too the student and asks: What is this?
Q.2 | Pointing to the pictures only five showing the various objects, the teacher asks; What
do you see in the picture?
Q.3 Pointing to the pictures defecting various life situations (Only five) the teachers asks
the following question:
What is/are the/he/Tinku/they/children/doing?
Q .4 | The teacher will ask five questions on the following pattern:
- What colour is your shirt/
- What colour is my saree?
- Who is your favourite film actor?
- Do you have grand parents? Where do they live?
- How far is your home from this place?
- Which serial do you like to watch in the television why do you like it?
- Do you live in a rented house or your own house?
- What games do you like to play
- How do you (go from one place to another) travel?
- What will you like to he?
Q.5 Read aloud this passage and (an interesting passage in simple present tense to he
selected) tell the meaning of:--
(just one or two words)
Activity based:
Q.6 Take out a card from this basket and place it against the right picture on the charts




(only five name cards to be picked up)

Q.7 Look at this picture and tell the story in five sentences, (a labelled picture depicting a
story to be shown )
SECTION : B
Q.1 Fill in the blank spaces to make the right word. One has been done for you.
EXAMPLE:
AN UMBRELLA
1 AT..B
2 A AP
3 A CO............




Q. II | Look at the pictures and write their names in the blank spaces provided against each
one of them.
1. B
2 T S




Q.III | (i) Match the pictures in column ‘A’ with their correct names in column ‘B’. One
has been done for you

COLUMN ‘A’ COLUMN ‘B’

1. (a) Pot

2. (b) Farmer




(c) Ship

(d) Car

(e) Hair

(f) Rickshaw

(g) Roses

(h) Train




9. (1) Cart

(i1) What is missing in these pictures? Write below each picture.

Q IV | Look at the pictures in Column ‘A’. Now, with the help of the clues given in column
‘B’ answer the following question as given in the example.

What is this?
Example: Ans: 1, It is a basket

S

Q. 2 Pointing

Hod 9R7 Riet drRishA
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